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1) Describe the age structure of the projected population of Japan in 2045.  ________________
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________2



2) Explain the economic impacts of an ageing population on a named (other than Japan) country. ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________2


3) What type of natalist policy (pro or anti) chould be attached to an ageing society?  ___________________________________________________________________________1



4) Using a named country, evaluate a process that has been implemented for any type of natalist issue to alter the future population possibility. 
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

											(5)
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Why is the structure above not natural? What has caused this imbalance? 


Dependency Ratios 
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[image: ]Spend a little time filling in three of the countries below to work out the dependency ratio. 




Migration:

Define Forced Migration  _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2) 

Define Voluntary Migration  _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2) 

Briefly explain two positive socio-economic impacts that migration could have for the provinces of origin. [2+2]
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2+2)

Outline the differences between a refugee and an economic migrant.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2+2)
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Gender – Inequalities (not just Saudi Arabia remember – look beyond the obvious!) 
[image: Related image]

Annotate this graph with as much information as you can referring to gender inequalities in culture, status, education, birth ratios, health, employment, empowerment, family size and legal rights 
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State two factors that men have a lower life expectancy in Russia than women
1 __________________________________________________________________________________
2 __________________________________________________________________________________

Legal rights & land tenure (preparing for the question that has never been asked). 
[image: ]
Unit 2 - Disparities in Wealth & Development 
Explain one strength and one weakness of using the GNI as a way of measuring disparities. [2+2]
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2+2)

What’s the difference between GDP, GNP & GNI? 
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[image: ]More to life than money… 








Marginalization: When a group of people become separated from society. Marginalized populations are those excluded from mainstream social, economic, cultural, or political life. Examples of marginalized populations include, but are by no means limited to, groups excluded due to race, religion, political or cultural group, age, gender
Explain how marginalization of a population has occurred using one case study example.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(4)

Explain how inequalities can arise from land ownership in one named country.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(4)
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Explain two possible causes of a reduction in life expectancy in the USA.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2+2)

Briefly explain how trade & market access can reduce global disparities. [4]
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(4)

Outline one way that trade and market access can bring about negative impacts on a place 
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2)
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Environmental Quality & Sustainability 

Define Insolation 
________________________________________________________________________________________________________________________________________________________________________(1)

Define Longwave radiation
________________________________________________________________________________________________________________________________________________________________________(1)

[image: Image result for energy balance atmosphere]
Identify and explain one factor that can impact on the amount of longwave radiation emitted back into space. 		
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2)
Explain two socio-economic consequences of soil degradation. [2+2]
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2+2)

Define the term ‘Economic Water Scarcity’
________________________________________________________________________________________________________________________________________________________________________(1)

**Possible 15 mark question** 

1. Examine how the factors affecting access to safe drinking water are linked to rapid population growth in different parts of the world.
 Examine  (AO3): Consider an argument or concept in a way that uncovers the assumptions and interrelationships of the issue

Note the cross over between two different parts of the core unit. 

2. Compare and contrast the effectiveness of an environmental quality improvement scheme a resource reduction strategy at a local or national scale designed to achieve environmental sustainability.
Compare and contrast  (AO3): Give an account of similarities and differences between two (or more) items or situations, referring to both (all) of them throughout

Patterns in Resource Consumption
Explain the difference in the viewpoints of anti and neo-Malthusian attitudes towards the relationship between population and resource consumption. [4]
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(4)
Outline a strategy at a local or national scale which is designed to reduce the consumption of one named resource. [2]                                    
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2)
Explain two reasons why the strategy described in (c)(i) either has or has not been a success. [2+2]
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________(2+2)
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China 20% 8% 13301
France 18% 7% 654
Japan 13% 23% 1214
Kenya 43% 3% 390
Niger 50% 2% 153
Thailand 22% 8% 635
USA 20% 13% 3005
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Refugees: Someone who has been forced to leave their home and their country. People can be.
forced to become refugees for many reasons including:

o war

+ Natural disasters (floods, earthquakes, volcanoes & Droughts)

« Politcal unrest e.g. Syria, Egypt and Libya

« Persecution (ethnic relgious)

+ Crime and extortion

1DPs: This stands for internally displaced person and it is someone who has been forced to leave
their home and move somewhere else within their country.

Refugees and IDPs can face many problems including:

Starvation and/or Dehydration: Refugees are often forced to leave their homes with it or no
warning. They often travel with tte or no food or money and have to travel long distances to
reach safety or refugees camps. On the way, particularin hot climates e.g. Irag, Sudan or Somalia
they may sufer from severe lack of water and food, making many weak and kiing others.
Exposure: I refugees are lucky they may have a tent tosieep in, but many others have to sieep
outin the open and are exposed to extremes of temperatures (very hot and very cold) n desert
areas ke n Iraq it can get extremely hot in the day, but extremely cold at night.

Disease: With large numbers of people iing close together without proper saniation (toilets),
nor proper food/water supply then diseases can spread quickly

Racial Tensions: Refugees are often forced to countries where there are different ethnic and/or
relgious groups. This can at times case tensions, especialy i it is a poor country that already
suffers from housing shortages and unemployment.
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9. Legal rights and land tenure

Inheritance: Property passed onto someone in the time of someone's death. Property and possessions are

usually passed on within familes.

Tenure: Tenure relates to the ownership of something. When talking about tenure people often refund to

propertyorland.
in many countries females sil suffer unfarly in terms of inheritance and ownership.

+ In Bangladesh women stll inherit only half s much astheir brothers. rotests recently erupted after
the government proposed changes to law making male and female inheritance equal.

+ Inthe UK males heirs are favoured over females in their succession to the throne. A female willonly
bbecome Queen if she has no brothers or all her brothers have died (or abdicated).

+ Japan has recently been debating its succession rules.

+ Also women often struggle to ensure land ights (tenure).

+ Onthe death of their husband', women often lose the right to land they once owned with their
husband.

+ These continuing problems are believed to have stemmed from old traditionalsystems where
community land was controlled by vilage elders (normally men).

+ The UN and other organisations are currently trying to protect women's ownership rights.
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Gross domestic product (GDP): The total value of all goods and services produced
‘domestically (inside a country) by a nation during a year.

Gross national product (GNP): The total market value of all goods and services.
produced by a nation n ayear. It also includes the value of goods and services produced
Gross national income (GNI): The total value of good and services produced within a
‘country together with the balance of income and payments from or to other countries.
(GNI is increasingly become the preferred monetary indicator.
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Problems with Monetary Measures:

"Most countries use different currencies, because the value of urrencies change.
against each other (exchange rates) it s hard to make accurate comparisons.

Al countries have a formal and an informal economy. The formal economy is
regulated by the government and it value is known. However, the informal
‘economy (things like shoe shining, car windscreen cleaning) aren't so the
government nor economists know the true value of econornies and therefore.
G

‘Some goods and services are unpaid e.g. volunteering in a charity shop or
parenting. However, they contribute to the economy 5o shouldr' they be
included?

Looking ata country's overall GNI disguises intra-country variations. For example.
the East of China is becoming very ich, but much of the west s still very poor.
Just looking at money also neglects many other important aspects of
development e.g. education and healthcare.
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Get outside to improve your health 01:03

Story highlights (CNN) — Life expectancy in the United States has
dropped again following last year's decline, which

Americans can now expect to live 78.6 years, .
P = marked the first downturn in more than two decades.

on average
Women can still expect to live longer than On average, Americans can now expect to live 78.6
LR PSR T years, a statistically significant drop of 0.1 year,

according to a report on 2016 data published Thursday
by the National Center for Health Statistics. Women can now expect to live a full five years longer
than men: 81.1 years vs. 76.1 years.

The last time the agency recorded a multiyear drop was in 1962 and 1963.
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Benefits of Free Trade

Benefits of Protectionism

“Gives Iocal companes a chance to become global
companies (TNC) e.g.Pollo Campero

Countries who particpate in free trade grow faster

Protectionism makes products more expensive and
‘may stop normal itizens from buying them e.g. cars in
ElSalvador are very expensive because of import
duties

Local companies can create pollution just as much as
TNCS and may not have the money to clean up
accidents e.g. B created 2 huge spill but had the
finances to cean up.

"Mexico has increased is exports since joining NAFTA
Jobs are created for local workers

Improvement to local nfrastructure. E.g. Roads and
Bridges

TNG may take over local producers e.g. Walmart
moving into EI Salvador and taking over local
supermarkets

‘Workers are often exploited by TNCs and paid low
‘wages for long hours.

Counties may become dependent on foreign
countries imports e.g. Europe relies on Russian gas
‘Countries may become reiant on foreign workers.
‘.. UAE rely on European, South Asian and Fliino
workers

Producing locall should reduce transport costs.
‘and certainly reduce air mies.

Local companies will use more appropriate
technology and take greater care of the.
environment
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Dependency s the ation between dependents (old and youn) and
‘economically active. The dependency rato is calculated using the following formula.

‘Dependent population
Population of working age

Dependency ratio = 100)

A country's dependency ratio may increase for a number of reasons including:
+ increasing life expectancy

Falling death rates

Rising birth rates

Immigation of dependents

Emigration of economically active
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